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How much 60% of 50 is greater than
40% of 30?
A. 18
B. 13
C. 15
D. 20

Show Answer…
Correct Answer: A.18

To find out how much 60% of 50 is greater than
40% of 30,
we first need to calculate the values of each expression:

60% of 50 is (60/100)50 = 30
40% of 30 is (40/100)30 = 12

Now that we have these values, we can compare them directly:

30 (60% of 50) is greater than 12 (40% of 30)

So, 60% of 50 is 18 greater than 40% of 30.

Note:
If you want to check it yourself, you can also subtract 40% of 30 from 60% of
50 to find the difference.


